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�� ��� ����� ������ �������� ����� ��� +$/(&.<��0LORV
�� ��� ����� ������ �������� ����� �� &+8'2%$��0LFKDO
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�� �� ������ ������ ������� ����� ��� -$1&,$5��-DQ
�� �� ����� ������ ������� ����� �� &,=,.��'DQLHO
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�� ��� ����� ������ �������� ����� �� &+8'2%$��0LFKDO
�� ��� ����� ������ �������� ����� �� 6()5$1.2��.DURO
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�� ��� ����� ������ �������� ����� ��� 3$1&,.��/XERPU
�� ��� ����� ������ �������� ����� ��� 7$=.<��0LURVODY
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�� ��� ������ ������ ������� ����� ��� 7562��6WHIDQ
�� ��� ������ ������ ������� ����� ��� $512/'��+HQU\N
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�� �� ������ ������ ������� ����� ��� 67$1&(.��'XVDQ
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�� � ���� ������ ������ ���� ��� 0$7(-,&(.��0DULDQ
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�� � ���� ������ ������ ���� �� 9$5*21&,.��+HQULFK
�� � ���� ������ ������ ���� �� 6/,9.$��-XUDM
�� � ���� ������ ������ ���� ��� /$7,1$.��0LFKDO
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�� � ���� ������ ������ ���� ��� .9,(72.��3DYHO
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